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He | #F BHHES ZERIFN B ERENSE®EIR
—. M PO TR (BA)
1 2% 532kkkokkokkxkk 0045 82. 24 =
2 Kok | 530%kmkkiokiokek39 14 74. 64 =
3 Foaok | 21 0kkkskkinrk0019 70. 16 %
4 Ak A4 (skskskskekskskskokokk 493X 64. 43 &
5 A * 530kkskstkakstokakkk 0059 61.47 i
6 ~F % 53 3seksctotsootoikk 1013 58. 16 &
7 Fhak | 340%sksnskkksk5 X 52. 43 &
8 Ik B2 2skskkskokdoiok k06 13 54. 60 &
. PP E FAEKAE (16A)
1 & %k 530skkskkskokskokokkk (0414 78. 81 =
2 Bx 530tttk k6 398 78.31 =
3 Ak 533tttk k4227 68. 46 &
4 %ok 532kt k% 1815 65. 89 &
5 Fxx | 530wk 1511 65. 22 &
6 B ko 320skskskskskskstoskokkk 4 352 62. 45 &
7 X sk A1 Isksrsisrsisksksksksk(00 13 61.50 &
8 Fax | 53kkickkeiokkk(001X 59. 98 &
9 57 * 530kskskskskstsdokokk%0016 59. 13 &
10 B k% 53 2kskskskkskokokdkok [ 833 58. 41 o
11 B ok 5 30kskskskskskkkskokk 31 7H 58. 14 i
12 ok b3 2%kkskkekekekokkkkg | 34 56. 27 i
13 Bt sk 37 Ikt k 581 2 51. 39 #
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He# "7 SHHES SZIENS S EREASE@R
14 Z % 53 2skskskskskskskkskkk (005 1 G
15 7K ok 41 2xkskskekskekokkokk 7453 &
16 Zh *k 37 Lsksksksiskoskskokokskok 00 1 7 G
=, B ISR FL (12A)
1 Bk 530kskskskeksiosksksskk (0054 83. 58 =
9 £ 140%kkskskksok k% 1219 78. 89 =
3 Zxx | 530wkkkkickrk005X 77.29 =
4 JE * 53 2skkokpsototiok 3354 75. 89 =
5 k% 53 Jskskskskskskokskokekok (0024 67.81 &
6 x| 530kkskkkkrrrkk0019 66. 67 &
7 Zxx | 53kkictkkeiokik ] 01X 54. 54 &
8 Bxk | 530kkkkkkkkkkk] 17 53. 86 &
9 Zxk | H3Jkkkkkkkkiik 617 53. 38 &
10 My xx* 430ksstckekekstokeikok 4519 51.53 &
11 Fh *x 41 1kskskskskskskskskskk 1015 G
12 JE 37 Iskskskekokskoskskokokok 1 277 Gh




